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& X (KN) Y (MPa) x? y?2 XY
1 39 10 1521 100 390
2 74 20 5476 400 1480
3 151 40 22801 1600 6040
4 226 60 51076 3600 13560
b 490 130 80874 5700 21470
HAERED
o X(KN) Y (MPa) (tonf)
[X]=(ZX)*+N= 60025.0 50 13.2 (5. 0)
[Y]=(2Y)?+N= 4225.0 80 21.2 (8.0)
[XY]=(ZXX ZY)+N= 15925 100 26.5 (10. 0)
150 39.8 (15.0)
170 45.1 (17.0)
S(X*) =2X*-[X]= 20849.0 50
S(Y)=32Y*-[Y]= 1475.0 P
S(XY) = £XY—[XY]= 5545.0 0 y=0_265,_0,gy
60
y =S (XY) -+ {/ (S(X*) xS(Y?)) 50
= 0.99991 /
40
a=(IZX®X ZY—-IZXX IXY)+ (NX ZX2—(£X)3 30
i ~0.080 20
) 10 -
b=(NX ZXY—EXX 2Y)+(NX ZX*—(2X)?
> S K
ftocY=bX+a= 0.266 X -0.080
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